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ﬁiﬁ% TERFOBHOEILADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREOHBERILNDOKRES
; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.62 57.54 | =hs | 0oo ~ 462 1.87 10.01 Zzh s 1.00 | 5.00 ~ 56.00 57.64 | #nLS | .00 ~ 500 1.87 10.01
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 0.00 ~ 5.06 63.00 | EnLS | 000 ~ 506|212 11.35 ZzhLs 1.00 | 5.00 ~ 7.00 63.00 | =nst | 6,00 ~ 700|212 11.35
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 4.37 54.56 | =S | 000 ~ 437|226 1212 ZzhnLst 1.00 | 5.00 ~ 7.01 54.56 | TN | 5.00 ~ 7.01)|226 1212
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 000 ~ 5685 73.24 | =N | 000 ~ 585|209 11.19 ZzhLs 1.00 | 5.00 ~ 828 73.24 | EnRS | .00 ~ 828|209 11.19
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.84 86.49 | N | 000 ~ 684 | 1.74 9.32 ZzhLs 1.00 | 5.00 ~ 8.37 86.49 | =hs | 5.00 ~ 837 |1.74 9.32
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.83 86.40 | L | 000 ~ 000|171 9.13 Zzhn st 1.00 | 5.00 ~ 841 86.40 | =nst | 5.00 ~ 841 |1.71 913
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 5678 7224 | =R | 000 ~ 000|172 9.18 ZzhLs 1.00 | 5.00 ~ 6.47 7224 | EnRS | 600 ~ 647|172 918
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZERBZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.80 59.78 | =S | 000 ~ 480 1.96 10.49 ZzhLs 1.00 | 5.00 ~ 56.568 59.78 | =S | .00 ~ 558 | 1.96 10.49
g 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.77 59.50 | NS | 000 ~ 000|171 9.18 Zzhn st 1.00 | 5.00 ~ 56.00 59.50 | =nS | 5.00 ~ 6.00|1.71 918
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ zh st ~ zhst ~ zh st ~




